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The figures in the margin indicate full marks
forthe questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

1S s et Ted f

(a) In a capitalist economy, the level of
employment depends on

Q5 <[fEaft s fems T@E 33 e 3
(i) level of aggregate demand
ST SRR ME[ Soqe

(i) level of aggregate supply
SHfEF (TSI TEGH So[_S
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(b)

(c)

22A/40

(2)

(iii) level of effective demand
e BN AR 679S

{iv) None of the above

@9 18 72 _
( Choose the correct option )

(= RFFmco! AR Sferear )

Aggregate demand can be expressed as
SRR SR 2 S AR
) D=D, +D,
(i) Dy >D,
(iii) Dy <D,
fiv) D=D, -D,

where (¥9) D = Demand  (51f21)
D, =Consumer demand (CST&[ bIf2) and

(S D, = Investment demand

GEEIRIIED)

( Choose the correct option )

( wm Reses! AR Sferer )

When money wage rate is unchanged,
the slope of aggregate supply function is
cfen Ju IgRT 29 FERTEA, i i
QA Forerq FE 27
(i) linear
R
( Continued )

(o)

22A/40

(3)

(i) non-linear
ERGIRE:

(iij) curved
ﬁ@

(iv) Any shape
JCRICAT ST

( Choose the correct option )

( wm Rsen I Sferear )

According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

fferezs oo fieeqa e TR RedT 29w
e TRHC] 2

(i) inverse

SRS
(i) linear
[SIRe
(iii) non-linear
-3
fiv) both inverse and non-linear
@ W% 5-tals e
( Choose the correct option )
(= Rewco AR Sfe )
( Turn Over )



(&8 (S)

fe) Phillips curve determines 2. Answer the following : 2x5=10
fferr @3k At 31 oo @RS Tes i ¢
(i) employment rate (a) Differentiate between spot and forward
e 3. exchange rate.
! =off S TG [ 29w e g Fefw
(i) unemployment rate 4] |
_EE 23 (b) Write two constituents of international
(iii) inflation rate financial market.
TErEies 29 SRS {87 Ieea 701 SAmE W ferdi|
(iv) All of the above ¢/ What are the I-S components of
Mundell-Fleming model?
SO HGIRCIZ0!
Tewa-grfi wfEq siee-RfFcnse SmeeEs &
( Choose the correct option ) 9
(o= 1<eemen <R Sferean ) (d) Give two merits of Phillips curve as a
(/ What is modified Phillips curve? tool of economic theory.
seefre Rferee @4 &2 ST ©g Arze Rowet iR @¥R 0 8
(g9 What is assignment problem according bt
to Mundell? (e) Define impossible trinity of Mundell-
Cued TS WIRge) IR T 5 2 Fleming model.

ews-Grie of¥q wpige @@’ viee i |

(h) What is Dornbusch’s overshooting

model? 3. Answer any four of the following : 5x4=20
TP SRR S 32 oot R BB e e -

{ij Define international financial market. (@) What are the factors which cause shifts
ST 8 T e i | in the short-run Phillips curve?

() What is open economy? @R o Free TxerE Rfrr @@
T& A 2 RS TR @A 2F 2
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(b)

()

(d)

(e)

22A/40

(6)

Explain the concepts of rational
expectation in theory and practice.

ofgs = RS CFae (difes oMR
SIECIAISIENIESIN

What is adaptive expectation? Mention
three limitations of adaptive
expectation.

sfemfae gorn 2 TR SRt e
TrEy <491 |

How is the exchange rate determined in
a free market? Explain briefly.

o e R 29 R fd 991 =, e
57 <41 |

What are the relative importaﬁce of
aggregate demand and aggregate

supply?
e oY wWE NES  @PFR §eW
e 999 7

How can the aggregate supply function
be derived?

TR @IS o (e RS 9 2 2

( Continued )

(7))

4. Answer any four of the following : 10x4=40
o] R v Ted i

(a) Explain the purchasing power parity
theory. Discuss its limitations.

T WIeN MOl weol Ry 99| TWH

HAAEOPHR S T4 |

(b) Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

'ﬂm}f{ EERIE AL S forq o SRgSTE
RFE 2e per-gfin (ifee e T2
e Ry S T 541 |

() How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

R @R G g o qEreies

e A 101 T 7 TR Meors Ramerz
ST B |

(d) What do you mean by effective demand?

What are its determinants? Explain
briefly.

ﬂmﬂ@ﬂiﬁﬁﬁﬁ?m%ﬁmﬂﬂ‘g &
&2 o 0 F4q0 |
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(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.
ANEE sitw WE TR @6 RS
Sfelcel SR (@l WY 91 74, 9941
20|

() Explain the Dornbusch’s overshooting
theory.
ST SR ©gCo! I F4T |

(g) Write a note on monetary approach to

" balance of payments (BOP).

CE el (BOP)T Jafe 72N e[
BT (T ferdl |

(h) Explain the asset market approach to
determine exchange rate.

Ry 2@ PR IR T IWEE s
I A .
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